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100 Questions

Que. 1 Read the sentence given below to find out if it contains an error. The error, if any, will be in one
part of the sentence. if the sentence is error free, select No error or option 5.

Lower class (A) being poor was (B) not a problem (C) for the upper class. (D) No Error (E)

Correct Option - 1

A1.
B2.
C3.
D4.
E5.

Que. 2 Read the sentence below to find out if there is any error in it. The error, if any, will be in one part 
of the sentence. The letter of that part is the answer. If there is no error the answer is (5). (Ignore 

errors in punctuation if any).
Their most significant gains (A)/ have been in the north half of the country, (B)/ a traditional stronghold of the
U.S. allied (C)/ warlords who helped defeat them in 2001(D)/ No Error (E)

Correct Option - 2

A1.
B2.
C3.
D4.
E5.

Que. 3 Read the sentence below to find out if there is any error in it. The error, if any, will be in one part 
of the sentence. The letter of that part is the answer. If there is no error the answer is (5). (Ignore 

errors in punctuation if any).
Mr. Rawat quit on Friday evening ostensible on (A)/ being unable to get elected to the
Uttarakhand Assembly (B)/ within the constitutionally stipulated (C)/ deadline of six months
from the date he took over. (D)/ No error (E)

Correct Option - 1

A1.
B2.
C3.
D4.
E5.

Que. 4 In this question, a sentence has been divided into four parts (A), (B), (C) and (D). Read the
sentence to find out whether there is any grammatical error in it. The error if any, will be in one

part of the sentence. Mark that part as your answer. If there is no error, the answer is ‘No error’. Ignore
the error of punctuation if any. 
He knocked out  (A)/ four tooths of his assailant (B)/ with a single punch (C)/ that night (D)/.

(A)1.
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Correct Option - 2

(B)2.
(C)3.
(D)4.
No error5.

Que. 5 Read the sentence below to find out if there is any error in it. The error, if any, will be in one part 
of the sentence. The letter of that part is the answer. If there is no error the answer is (5). (Ignore 

errors in punctuation if any).
Three men were arrested for alleged (A)/ impersonating civic body officials (B)/
and extorting money from shopkeepers (C) /in east Delhi’s Mansarovar Park, the police said on Sunday. (D)/. No
Error. (E)

Correct Option - 1

A1.
B2.
C3.
D4.
E5.

Que. 6 In the following sentence, four words are given in bold out of which one word is misspelled. Find
the misspelled word.

With a bag-less vacum (A) cleaner, you need to shake out the dust, dirt, hair, and food particles (B) into another
trash receptacle (C), and it's not the easiest process (D) out there.

Correct Option - 1

A1.
B2.
C3.
D4.
No error5.

Que. 7 Directions: In the following sentence, five words are given in bold, out of which one word is
misspelled or contextually inappropriate. Find the misspelled/inappropriate word. 

Retail (A) inflation alike (B) eased below 7% in October, Reserve Bank of India (RBI) Governor Shaktikanta
Das said on Saturday, in conversation (C) with R Sukumar, editor-in-chief, of Hindustan Times at the Hindustan
Times Leadership (D) Summit(E) 2022.

Correct Option - 2

Retail1.
Alike2.
Conversation3.
Leadership4.
Summit5.

Que. 8 Directions: In the following sentence, five words are given in bold, out of which one word is
misspelled. Find the misspelled word.
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In 2021, the JPC suggested multiple amendments(A) to its re-worded Data Protection Bill, 2021, which
privilaged(B) state exceptionalism(C) over individual(D) privacy, while continuing(E) to strictly regulate
corporate action.

Correct Option - 2

A1.
B2.
C3.
D4.
E5.

Que. 9 In the following sentence, some parts have been printed in bold. One of the bold parts is
incorrectly spelt. Pick up that part and choose its number. If there is no error in the bold parts,

choose option 5- no error as the answer.
While a moderate amount of stress can be beneficial, too much stress can exhast you.

Correct Option - 2

moderate1.
exhast2.
beneficial3.
stress4.
No error5.

Que. 10 Directions: Read the passage given below and answer the questions that follow by choosing the
correct/most appropriate options:

AU Small Finance Bank Limited is an Indian Small finance bank, based in Jaipur, India. It was founded as
vehicle finance company AU Financiers (India) Ltd in 1996 and converted to a small finance bank on 19 April
2017. AU Small Finance Bank serves low and middle-income individuals and micro and small businesses that
have limited or no access to formal banking and finance channels. The Bank offers loans, deposits, and payment
products and services. AU Small Finance Bank ranked 355 in the list of Fortune India 500 (2019) companies,
with annual revenue of ₹3,410.87 crore (US$427 million) and Total B/S Assets of ₹31,198.68 crores (US$3.9
billion). AU Bank enjoys a long-term credit rating of “AA-/Stable” from CRISIL Ratings, ICRA Ratings, India
Ratings, and CARE Ratings.
The company was founded by Sanjay Agarwal (managing director and CEO of AU Small Finance Bank) as a
private limited company, and publicly listed in an IPO on 29 June 2017. A merit holder Chartered Accountant
and a first-generation entrepreneur, he holds ~28.5% stake in the Bank. He is supported by a team of 23,486
employees. AU Small Finance Bank is listed on NSE & BSE with a market capitalization of ~Rs. 37,942
crore. On its first day of trading, the stock rose 51% to be the most expensive bank in India based on price-to-
book. In November 2017, the Reserve Bank of India added the bank to its schedule of commercial banks, further
improving the bank's growth prospects by reducing the cost of short-term funds and improving the bank's ability
to provide services.
Over the years, the Bank has attracted marquee investors like IFC, Warburg Pincus, Temasek Holdings, Nomura,
Kotak Mahindra MF, etc. Private equity companies that provided venture capital, including Warburg Pincus and
International Finance Corporation, made partial exits for as much as nine times their original investment.
Due to its history as a vehicle finance company, as of March 2018 almost all the loans made by AU Small
Finance Bank were secured, unlike most small finance banks that have unsecured loans due to their background
in microfinance. This provides lower yields (lower interest rates) than unsecured loans, so the bank has been
particularly active in growing its deposits, as bank deposits have a lower cost than other sources of funds. It has
also sought to diversify into savings products like deposits, payment/transaction banking, distribution of third-
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party products, and additional loan products thereby positioning itself as a holistic financial products and
services provider.
As on June 30, 2021, AU Small Finance Bank's distribution network _______ 758 Banking Touchpoints and
23,486 employees spread contiguously across 15 states and two Union Territories with over 2 million customers.
The bank has operations in 15 states and two union territories, with Rajasthan, Gujarat, Maharashtra, and
Madhya Pradesh being key states. It is one of the largest banks by a number of locations in its home state of
Rajasthan.

Choose the antonym of the word 'Limited'.

Correct Option - 5

Determinate1.
Defined2.
Restricted3.
Circumscribed4.
Ample5.

Que. 11 Choose the antonym of the word 'Expensive'.

Correct Option - 1

Economical1.
Extortionate2.
Extravagant3.
Valuable4.
Exorbitant5.

Que. 12 How much approx stake does the founder of AU Small Finance Bank have in AU Small Finance
Bank?

Correct Option - 2

51% stake.1.
28.5% stake.2.
37.97% ​stake.3.
10% ​stake.4.
49.23% ​stake.5.

Que. 13 Which of the following is/are correct according to the given passage?
A. Most small finance banks have unsecured loans due to their background in microfinance.

B. The AU Small Finance Bank has operations in five states and two union territories.
C. AU Small Finance Bank is still not listed on NSE & BSE.

Only A1.
Both A and B2.
Only B3.
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Correct Option - 1

Both B and C4.
Only C5.

Que. 14 What will fit in the blank taken from the passage: ''As on June 30, 2021, AU Small Finance Bank's
distribution network _______ 758 Banking Touchpoints and 23,486 employees spread contiguously

across 15 states and two Union Territories with over 2 million customers.''

Correct Option - 3

Considerate1.
Wary2.
Comprises3.
Imprudent4.
Compromises5.

Que. 15 Where is the headquarters of AU Small Finance Bank?

Correct Option - 2

Ahmedabad1.
Jaipur2.
Mumbai3.
Delhi4.
Bangalore5.

Que. 16 According to the passage, AU Small Finance Bank Limited was founded as:

Correct Option - 3

Health finance company.1.
Small finance bank.2.
Vehicle finance company.3.
Educational finance company.4.
Sports finance company.5.

Que. 17 Choose the synonym of the word 'Improving'.

Correct Option - 4

Impairing1.
Tarnishing2.
Vitiating3.
Ameliorating4.
Deteriorating5.

Que. 18 Directions: Select the most appropriate word to fill in the blank.
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Mr Trump launched this policy through the Abraham Accords, and Mr Biden has wholeheartedly _____ it.

Correct Option - 2

abandoned1.
embraced2.
neglected3.
disrespected4.
disregarded5.

Que. 19 Directions: Select the most appropriate word to fill in the blank.
More than the law, the police must first put an end to the practice of _____ arresting first and then

fishing for a possible offence

Correct Option - 5

mooted1.
overhaul2.
unstated3.
aligned4.
reflexively5.

Que. 20 Directions: Select the most appropriate word to fill in the blank.
Moreover, permitting construction work risks _______ the foundations of centuries-old edifices.

Correct Option - 2

Strengthening1.
Weakening2.
Trafficking3.
Panicking4.
Discriminating5.

Que. 21 Directions: Select the most appropriate word to fill in the blank.
During the recent celebration of Pride month (June) globally and in India, we witnessed an _______

social media presence filled with striking images and stories.

Correct Option - 4

Discernible1.
Avoidable2.
Fable3.
Incredible4.
Responsible5.

Que. 22 In the given sentence a word has been emboldened. Select the best alternative for the bold word
from the given options. If none follows, select option 5 as your answer. 

Jake declared that no matter what, he would win the scavenger hunt. 
Announced1.
Denounced2.
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Correct Option - 1

Whispered3.
Swallowed4.
None of these5.

Que. 23 In the given sentence, a word has been emboldened. Select the best alternative for the bold word
from the given options. If none follows, select option 5 as your answer. 

The writers decided to conceal the true nature of the main character until later. 

Correct Option - 3

Splurge1.
Provoke2.
Hide3.
Reveal4.
None of these5.

Que. 24 In the given sentence a word has been emboldened. Select the best alternative for the bold word
from the given options. If none follows, select option 5 as your answer. 

The Prince was known across the kingdom as a coward. 

Correct Option - 2

Suave1.
Weakling2.
Knight3.
Debonair4.
None5.

Que. 25 In the given sentence a word has been emboldened. Select the best alternative for the bold word
from the given options. If none follows, select option 5 as your answer. 

There was ample evidence that Charlotte had committed the crime. 

Correct Option - 1

Sufficient1.
Inadequate2.
Average3.
Particular4.
None5.

Que. 26 Direction: Read the instruction carefully and answer the question given below.
A person starts from point L and goes 5 km towards the east to reach point M and then takes a left turn

and travels 2 km to reach point N. Upon reaching point N he turns right and goes 3 km to reach point O and then
turns right again and goes 6 km to reach point P. From point P he takes a left turn and goes 3 km to reach point Q
and then again turns left and goes 4 km to reach point R. After reaching point R, he finally takes a left turn and
goes 3 km to reach point S which is his destination.

What is the direction of point N with respect to point Q?
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Correct Option - 2

South-East1.
North-West2.
North-East3.
West4.
South-West5.

Que. 27 What is the shortest distance between the starting and the finishing point?

Correct Option - 5

10 km1.
12 km2.
6 km3.
5 km4.
8 km5.

Que. 28 What is the position of point S with respect to the position of point O?

Correct Option - 3

3 km South1.
5 km North-East2.
2 Km South3.
4 km North4.
10 km North-East5.

Que. 29 Direction: The following question are based on the number series given below.
2 4 5 6 7 9 10 13 16 18 19 21 24 25 28 29 30 34 37 39 41 49 55

If all the even numbers are deleted from the following arrangement and the numbers are arranged in decreasing
order, which element will be 6th from the right?

Correct Option - 3

291.
252.
213.
374.
415.

Que. 30 If all the prime numbers are deleted from the arrangement, how many elements are present to the left
of 25 in the rearranged series?

Correct Option - 2

91.
82.
73.
104.
65.
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Que. 31 If all the odd numbers are deleted from the following arrangement, which element will be present
exactly between the one which is 4th from left end and the one which is 3rd from right end?

Correct Option - 5

101.
282.
243.
164.
185.

Que. 32 If first element is exchanged with the last element, then second element is exchanged with the second
last element and so on, then what will be the 10th element to the right of 7th element from the left end?

Correct Option - 2

301.
102.
93.
164.
555.

Que. 33 If it is possible to make only one four-lettered meaningful word without repetition of any letter with
the third, fourth, eighth, and the eleventh letters of the word ‘CONSECUTIVE’, which would be the

second letter of the new word? If more than one such word can be formed, give X as the answer. If no such word
can be formed, give Y as your answer.

Correct Option - 4

S1.
N2.
T3.
X4.
Y5.

Que. 34 The consonants in the word 'EQUIVOCAL' are changed to the respective previous alphabets in the
English alphabetical series and the vowels are changed to the respective alphabets succeeding them in

the English alphabetical series. What is the 4th letter from the left end in the word formed after arranging these
letters in alphabetical order?

Correct Option - 3

F1.
P2.
J3.
B4.
None of these.5.

Que. 35 Directions: Study the following information carefully and answer the questions given below:
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Seven friends namely, P, Q, R, S, T, U, and V have examinations on seven different days of the same week from
Monday to Sunday but not necessarily in the same order. P’s examination is on Friday. Only one person has
examination between P and S. Q has examination just before S. As many persons have an examination before Q
as after V. Not more than one person has examination between S and T. Only two persons have examination
between R and U but U’s examination is not after R’s examination.

Which among the following has examination on Saturday?

Correct Option - 4

U1.
T2.
S3.
V4.
R5.

Que. 36 How many persons have examination between Q and T?

Correct Option - 1

None1.
One2.
Two3.
Three4.
Four5.

Que. 37 On which day is U’s examination?

Correct Option - 5

Sunday1.
Wednesday2.
Friday3.
Monday4.
Thursday5.

Que. 38 Which of the following person has examination on Monday?

Correct Option - 2

V1.
T2.
R3.
S4.
Q5.

Que. 39 Which among the following is true?
S’s exam is on Sunday1.

No one has examination between Q and P2.
Three persons have examination between R and S3.
S’s examination is just before P’s examination4.
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Correct Option - 3
None of these5.

Que. 40 If in a certain code language, BENCH is written as CDOBI, which word would be written as QGPMF?

Correct Option - 4

HOPEN1.
PHOEN2.
PHEON3.
PHONE4.
PONHE5.

Que. 41 Direction: Read the information given below carefully and answer the following questions.
A person buys ten products namely I, J, K, L, M, N, O, P, Q, and R one after another but not

necessarily in the same order. N was bought four products before P. Only one product is bought between P and
K. At least three products are bought before N. The number of products before N is same as after I. Only three
products are bought between I and L. L neither bought at first nor last. The number of products between K and I
is the same as between J and N. R was bought three products before M. M was bought after I. O was
bought before Q and is not the first product to bought.

How many products were bought between O and I?

Correct Option - 5

Two1.
Three2.
Five3.
Six4.
Four5.

Que. 42 Find the odd one out.

Correct Option - 4

J, L1.
O, N2.
Q, I3.
K, I4.
P, K5.

Que. 43 Number of products after N is same as the number of products before _______.

Correct Option - 5

K1.
P2.
M3.
Q4.
I5.
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Que. 44 Which of the following is true?
I. J is the last product to buy.

II. The number of products before Q is same as the number of products after N.
III. Even number of products is bought between L and K.

Correct Option - 5

Both I and III 1.
Both II and III2.
Only I3.
All the above4.
Only III5.

Que. 45 Odd number of persons sit between _____ and _____.

Correct Option - 2

R, M1.
M, I2.
O, Q3.
I, N4.
J, N5.

Que. 46 Direction: Read the following information carefully and answer the questions that follow:
There are seven persons A, B, C, D, E, F and G of same height but different weight appeared for a

physical examination for a job. The minimum weight required to fulfil body mass index criteria for them is 60
kg. The weight of A is exactly same as the minimum required weight.
C’s weight is 5 kg less than A. G’s weight is 10 kg more than C. D’s weight is 1 kg less than G whereas G’s
weight is 8 kg more than B.E’s weight is 2 kg more than the minimum requirement. The weight of F is average
of D and E.

What is the weight of F?

Correct Option - 4

621.
642.
603.
634.
615.

Que. 47 How many candidates did not fulfil the criteria?

Correct Option - 2

Three1.
Two2.
One3.
Four4.
None of the above5.

https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb


Que. 48 Four of them are alike in a certain way; and thus form a group find the person who does not belongs to
the group?

Correct Option - 3

G1.
F2.
C3.
D4.
E5.

Que. 49 Who weighs 62 kg?

Correct Option - 1

E1.
F2.
D3.
G4.
B5.

Que. 50 What is the difference between the weights of G and D?

Correct Option - 2

9 kg1.
1 kg2.
10 kg3.
12 kg4.
7 kg5.

Que. 51 What should come in place of the question mark '?' in the following number series?
2, 18, 95, 384, 1155, ?

Correct Option - 2

22121.
23122.
26293.
24124.
27355.

Que. 52 What should come in place of question mark (?) in the following number series?
10, 35, 135, 360, 760, ?

Correct Option - 4

12251.
12752.
13653.
13854.
13155.
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Que. 53 What will come in the place of question mark in the following number series ?
0.3 , 8.1 , 37.5 ,  ?  

Correct Option - 1

102.9 1.
101.9 2.
103.9 3.
112.9 4.
104.9 5.

Que. 54 What should come in place of question mark (?) in the following number series?
4, 10, 22, 46, ?, 190

Correct Option - 2

921.
942.
963.
1024.
1045.

Que. 55 What should come in place of question mark (?) in the following number series?
7, 20, 59, 176, ?

Correct Option - 5

5231.
5132.
5793.
5574.
5275.

Que. 56 60% of the employees in a bank are officers. All the remaining employees are clerks. The daily wage
of each clerk is Rs. 390. The daily wage of each officer is Rs. 720. What is the average daily wage of

all the employees in the bank together?

Correct Option - 3

Rs. 4721.
Rs. 6262.
Rs. 5883.
Rs. 5424.
Rs. 6095.

Que. 57 At present, the ratio of the age of Hrick and Oindrila is x ∶ y. If Hirck's age is increased by 4 years and
Oindrila's age is increased by 2 years, then the new ratio of their age will be 2 ∶ 3. If the sum of their

present age is 44 years, find the original ratio of their age.
7 ∶ 41.
4 ∶ 72.
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Correct Option - 2

4 ∶ 53.
5 ∶ 44.
None of these5.

Que. 58 A man sells his goods at 20% profit. If the price at which he buys the goods increases by 30% and he
sells them at an 15% higher price, then what will be his profit percent( correct to two decimal place ) ?

Correct Option - 1

6.15%1.
6.25%2.
6.35%3.
6.55%4.
6.65%5.

Que. 59 The speed of boat in still water is 18 kmph and speed of stream is 2 kmph. Boat travels total distance
of 320 km upstream and downstream. It take 3 hour more to travel the distance in upstream compare to

downstream. Time taken to travel the upstream is ....... min.

Correct Option - 3

559.231.
602.52.
633.63.
643.754.
661.965.

Que. 60 A construction company hired 1000 persons to construct a building in 77 days but the company
realized after 44 days, 40% of the work had been finished. To complete the work on the scheduled time

how many persons company has to increase ?

Correct Option - 3

20001.
40002.
10003.
30004.
50005.

Que. 61 Heath goes for a morning walk daily. He goes on his scooter at 50 km/hr from his home to a lake.
There, he runs for an hour at 20 km/hr. After that, he returns home on scooter at 50 km/hr. Average

speed of Heath during entire journey is 38 km/hr. What is the distance between Heath’s home and lake (in km)?

Correct Option - 2

301.
37.52.
423.
454.
48.35.
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Que. 62 150 kg of alloy containing copper and zinc in the ratio 3 : 2 mixed with X kg of alloy containing
copper and zinc in the ratio 2 : 3. If the overall alloy should contain copper between 45% to 55% ,

what can be minimum value of X ?

Correct Option - 4

60 kg1.
80 kg2.
70 kg3.
50 kg 4.
None of these5.

Que. 63 A man wants to invest Rs. 8425 in bank account of his two daughters whose age are 24 years and 28
years in such a way that they will get equal amount on age of 40 years at the rate of 33.3%

compounded annually. Find the share of elder daughter.

Correct Option - 1

Rs. 64001.
Rs. 64642.
Rs. 54003.
Rs. 70004.
Rs. 64825.

Que. 64 A solid cylinder has a total surface area of 1232 cm2. It its curved surface area is three fourth of the
total surface area, the volume of the cylinder is

Correct Option - 1

3234 cm31.

3854 cm32.

3080 cm33.

3634 cm34.

3644 cm35.

Que. 65 What approximate value should come in place of the question mark (?) in the following question?

63.76 ÷ √(255.79) × {24.99% of (2.89)3} = (?)3

Correct Option - 2

91.
32.
63.
44.
75.

Que. 66 What will come in the place of the question mark ‘?’ in the following question?
250 of 56 × 25% - 128% of 650 = ? × 6 + 1024

2641.
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Correct Option - 2

2742.
3263.
3184.
2985.

Que. 67 What approximate value should come in place of the question mark (?) in the following question?
19.99% of 249.99 + 34.99% of 299.97 - ? = 29.99% of 349.99

Correct Option - 4

491.
512.
523.
504.
535.

Que. 68 What should come in place of '?' in the following question?

22% of 1250 + 1/7 of 1729 + 272 = ? - 132 - 24

Correct Option - 3

7291.
8182.
14443.
12384.
17125.

Que. 69 What will come in the place of the question mark ‘?’ in the following question?
37.5% of √576 + 150% of √1024 = (?) + 12.5% of 96

Correct Option - 3

301.
322.
453.
624.
475.

Que. 70 Direction: Study the given table carefully and answer the following question accordingly
In the following table, the percentage of published books distributed and the number of distributors

from five publishing company in two Months May and June. 
  May June

Name of the
publishing
company

Percentage of
published

books
distributed

Number of
distributors

Percentage of
published

books
distributed

Number of
distributors

A 70% 15 85% 16
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B 80% 10 84% 12
C 65% 13 75% 19
D 72% 8 52% 33
E 90% 6 88% 11

 
Note: All the given companies distributed the published books among its respective distributors during both the
given months 

In May, Company A published 100 books more than company B. If the number of books not distributed by
company B among its distributors in May was 50% of the number of books not distributed by company A among
its distributors in the same month, what was the number published by company B in May?

Correct Option - 1

3001.
4002.
5003.
6004.
7005.

Que. 71 Number of books published by Company C in May and June was equal. If the average number of
books received by each distribution of Company C in May and June was 168 what was the number of

books published by Company C in June?

Correct Option - 1

38401.
24802.
43803.
48304.
None of these5.

Que. 72 Number of books received by each distributor of Company D in May and that by each distributor of
Company E in the same month was equal. Number of books published by Company E in May was

what percent of number of books published by Company D in the same month?

Correct Option - 1

601.
652.
553.
Cannot be determined4.
405.

Que. 73 In June, the difference between number of books distributed by Company B and that by Company D
was 864. If number of books published by Company B in June was 1/3rd of the number of books

published by Company D in the same month, what was the number of books published by Company B in June?
20001.
9002.
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Correct Option - 5

18003.
Cannot be determined4.
12005.

Que. 74 If each distributor of company A received 255 books in June, what was the number of books published
by Company A in June?

Correct Option - 1

48001.
32002.
38403.
44804.
51205.

Que. 75 Number of books received by each distributor of company E in June (Considering everyone gets equal
number of books) was what percent less than the number of books not distributed by the company

among its distributors in the same month?

Correct Option - 4

30(1/3) %1.
32(1/3) %2.
36(2/3) %3.
33(1/3) %4.
39(2/3) %5.

Que. 76 Which State of India is associated with Saffron production?

Correct Option - 3

Assam1.
West Bengal2.
Jammu & Kashmir3.
Punjab4.
None of the above5.

Que. 77 Deficiency of Vitamin-D results in

Correct Option - 2

night blindness1.
rickets2.
scurvy3.
hairfall4.
None of the above5.

Que. 78 The governor General of India during the revolt of 1857 was ______________.
Lord Ripon1.
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Correct Option - 2

Lord Canning2.
Lord Hardinge3.
Lord Lytton4.
None of the above5.

Que. 79 EXIM Bank deals with the issue of financial assistance relating to which one of the following?

Correct Option - 1

Foreign Trade1.
Domestic Trade2.
Agriculture Devlopment3.
Industrial Development4.
None of the above 5.

Que. 80 Who was the finance minister during the 1991 economic reforms?

Correct Option - 1

Manmohan Singh1.
PV Narasimha Rao2.
R. K. Shanmukham Chetty3.
R. Venkataraman4.
None of the above5.

Que. 81 Union Minister for Civil Aviation Jyotiraditya Scindia recently launched Digi Yatra from the Indira
Gandhi International Airport, New Delhi for three airports in the country, namely New Delhi,

_______________ and Bengaluru.

Correct Option - 4

Hyderabad1.
Bhopal2.
Chennai3.
Varanasi4.
Mumbai5.

Que. 82 Which is the only Indian state that share its boundary with Sikkim?

Correct Option - 4

Meghalaya1.
Assam 2.
Arunachal Pradesh3.
West Bengal4.
Uttar Pradesh5.

Que. 83 The _____________________ Headquarter in New Delhi has won the prestigious GRIHA Exemplary
Performance Award 2022, a top national level Green Building Award.
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Correct Option - 3

NITI Aayog1.
Central Information Commission2.
Unique Identification Authority of India3.
Archaeological Survey of India4.
National Highway Authority of India5.

Que. 84 The Maratha King became a non-entity and the Peshwa the virtual ruler from the time of-

Correct Option - 1

Balaji Bajirao1.
Balaji Vishwanath2.
Bajirao I3.
Madhavrao I4.
None of the above5.

Que. 85 Svetambara and Digambara are two sects of the _______ community.

Correct Option - 4

Zoroastrian1.
Buddhist2.
Maratha3.
Jain4.
None of the above5.

Que. 86 When did the partition of Bengal take place?

Correct Option - 3

18571.
19302.
19053.
19214.
None of the above5.

Que. 87 Which of the following won Golden Glove at the FIFA World Cup 2022?

Correct Option - 3

Cristiano Ronaldo1.
Kylian Mbappe2.
Emi Martinez 3.
Lionel Messi 4.
Enzo Fernandez5.

Que. 88 What does the word 'E' stand for in the term "NEFT"?
Election1.
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Correct Option - 4

Exchange2.
Excise3.
Electronic4.
None of the above5.

Que. 89 Rabi crops are sown from ______.

Correct Option - 4

April to November1.
September to October2.
December to February3.
October to December4.
None of the above5.

Que. 90 President Droupadi Murmu launched which app to help electric vehicle users locate nearest charging
station ?

Correct Option - 5

Electric Darshan1.
Ghumo India2.
Digital Safar3.
Rath Yatra4.
EV -Yatra 5.

Que. 91 In India, 'Good Governance Day' is observed on the birthday of:

Correct Option - 3

Jawaharlal Nehru1.
Indira Gandhi2.
Atal Bihari Vajpayee3.
Sardar Vallabhbhai Patel4.
None of the above5.

Que. 92 Which of the following acids is present in Curd?

Correct Option - 2

Formic acid 1.
Lactic acid 2.
Oxalic acid3.
Tartaric acid4.
None of the above5.

Que. 93 Give an example of device in which chemical energy is converted into electric energy.
Battery1.

Sitar2.
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Correct Option - 1

Dynamo3.
Microphone4.
None of the above5.

Que. 94 Shalimar Garden located in Lahore, Pakistan, was built by which Mughal Emperor?

Correct Option - 2

Jahangir​1.
Shah Jahan2.
Akbar3.
Aurangzeb4.
None of the above5.

Que. 95 Who is the principal regulatory authority for stock market in India?

Correct Option - 3

RBI (Reserve Bank of India)1.
Supreme Court2.
SEBI (Securities and Exchange Board of India)3.
Finance Ministry4.
None of the above5.

Que. 96 Who was elected the 14th Vice President of India on 6 August 2022?

Correct Option - 1

Jagdeep Dhankhar1.
Nalin Negi2.
Ashishkumar Chauhan3.
Rama Subramaniam Gandhi4.
Margaret Alva5.

Que. 97 Red light is used in traffic signals, because ________.

Correct Option - 3

colour or blood is red1.
animals can identify red2.
red light disperses least3.
red is the symbol of danger4.
None of the above5.

Que. 98 What is the amount of cash incentive provided to pregnant women and lactating mothers under the
Pradhan Mantri Matru Vandana Yojana – PMMVY?

Rs. 50001.
Rs. 20002.
Rs. 30003.
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Correct Option - 1

Ts. 70004.
None of the above5.

Que. 99 The southernmost Himalayas are known as __________.

Correct Option - 1

Shiwaliks1.
Himadri2.
Himachal3.
Garhwal4.
None of the above5.

Que. 100 Coal Heritage Park and Museum is in which state of India?

Correct Option - 5

West Bengal1.
Telangana2.
Bihar3.
Jharkhand4.
Assam5.
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